restart

Ecuacion = diff (y(x, t), x$2) — 5-diff (v , X, 1) +6-diff (y(x,t),182) =
Ecuacion = %y(x, t)—5 (% y(x, t)) +6 (22_1‘2 y(x, t)) =0

Solucion = pdsolve( Ecuacion)
Solucion =y(x,t)= FI(t+2x) + F2(t+3x)
DerUnoX = diff (Solucion, x)
DerUnoX = a y(x,t)=2D( FI)(t+2x) +3D( _F2)(t+3x)
DerDosX = diff (Solucion, x$2 )
DerDosX = % y(x, 1) =4DP( FI)(t+2x) +9D?( F2)(t+3x)

DerMixta = diff (Solucion, x, t)

DerMixta:= = — y(x,1) =2 DA ( FI)(t+2x) +3DP( F2)(t+3x)

DerDosT := diff (Solucion, $2)

DerDosT := % y(x,t) =DP( FI)(t+2x) +D?( F2)(t+3x)
i

Comprobacion | := simplify(eval(subs(y(x, t) =rhs(Solucion), Ecuacion)))
Comprobacion, :=0=0
SolucionParticular == y(x,t) =5-exp(t +3 x) —cos(t + 2 x)
SolucionParticular = y(x, t) =5 e T3 cos(t+2x)

Comprobacion,, = simplify(eval(subs(y(x, t) = rhs(SolucionParticular), Ecuacion)))

Comprobacion, :=0 =0

restart
Ecuacion = diff (z ), x$2) +2-diff (z x) +diff (z(x,y),¥$2) =
62 0>
Ecuacion = — z(x,y) + ( )) + —z(x,y) =0
ad oy o Y
Solucion = pdsolve( Ecuacion)

Solucion:=z(x,y) = FIl(y —x) + F2(y —x) x
SolucionAlterna := z(x,y) =F,(y —x) +y-F,(y —x)
SolucionAlterna := z(x, y) =F,(y —x) +y F,(y —x)

Comprobacion | = simplify(eval(subs(z(x, y) =rhs(Solucion), Ecuacion) ) )

Comprobacion, :=0 =0
Comprobacion,, = simplify(eval(subs(z(x, y) = rhs(SolucionAlterna), Ecuacion)))

Comprobacion, :=0=0
restart

Ecuacion = diff (z(x,y),x$2) + 9-diff (z(x,y),»$2) =

Ecuacion = iz z(x,y) +9 (% z(x,y) ) =0
O ay
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> Solucion = pdsolve( Ecuacion)
Solucion :=z(x,y) = FI(y—31x) + F2(y+31x)

_> restart
> Ecuacion = dlﬁ” (x, 1)
1$3) =

FEcuacion = % y(x, 1)

,x83) = 3-diff (y(x, t), x,x, t) +3-diff (v(x, 1), x, t,t) —diff (y(x, ¢

. & .
-3 1) | +3 t — ,t) | =0
(axzatyoc )) (axaﬁ i, )] [aﬁ x ))

_> Solucion = pdsolve( Ecuacion)

Solucion = y(x,
=F(t+x) +t-F)(t+x) +x-2-F5(t +x)

_> SolucionDos = y(x, t)

SolucionDos

)= FI(t+x) 4+ F2(t+x)x+ F3(t+x)x

=y(x, 1) =F,(t+x) + 1 Fy(t +x) +x° Fy(t +x)

_> Comprobacion = simplify(eval(subs(y(x, t) =rhs(SolucionDos), Ecuacion)))

_> SolucionTres := y(x, t)

SolucionTres :

Comprobacion :=0=0

=F (t+x) +t-F,(t+x) +x-1-F5(t +x)

=y(x, t) =F(t+x) +1F,(t+x) +xtF;(t +x)

_> Comprobacion, := simplify(eval(subs(y(x, t) = rhs(SolucionTres), Ecuacion)))

Comprobacion, :=0=0

[ > with(PDEtools)

[ CanonicalCoordinates, ChangeSymmetry, CharacteristicQ, CharacteristicQInvariants,
ConservedCurrentTest, ConservedCurrents, ConsistencyTest, D_Dx, DeterminingPDE,
Eta_k, Euler, FromJet, InfinitesimalGenerator, Infinitesimals, IntegratingFactorTest,
IntegratingFactors, InvariantSolutions, InvariantTransformation, Invariants, Laplace,

Library, PDEplot, PolynomialSolutions, ReducedForm, SimilaritySolutions,

SimilarityTransformation, SymmetrySolutions, SymmetryTest, SymmetryTransformation,
TWSolutions, ToJet, build, casesplit, charstrip, dchange, dcoeffs, declare, diff table,
difforder, dpolyform, dsubs, mapde, separability, splitstrip, splitsys, undeclare]

> restart
> Ecuacion = diff (z(x, y), x$2) + 5-diff (z(x,y),y) =0
0
Ecuacion = iz z(x,y) +5 (— z(x y)) =0
ax dy
> with(PDEtools) :
> Solucion = build( pdsolve( Ecuacion))
1
1 -— ¢y
[ ¢ x -—= cy 571
Solucion :=z(x,y) =e ! _C3e > Cl+ C3e 2
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